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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours/Programme 4th Semester Examination, 2021 

ECOHGEC04T/ECOGCOR04T-ECONOMICS (GE4/DSC4) 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

1. Answer any six questions from the following:
িনmিলিখত েয-েকােনা ছয়িট  pেűর উtর দাওঃ 

2×6 = 12

(a) What is underdeveloped economy? 

অনুnত অথ�ব°বsা িক ? 

(b) What is tenancy reform? 

pজাst সংsার কােক বেল ? 

(c) Mention two features of green revolution. 

সবুজ িবpেবর dিট �বিশŶ° উেlখ কেরা। 

(d) What is minimum support price? 

kিষপেণ°র নূ°নতম সহায়ক মূল° কােক বেল ? 

(e) Mention two schemes for poverty alleviation. 

দািরd° দূরীকরেণ dিট কম�সূিচর উেlখ কেরা। 

(f) Mention two causes of population increase in India. 

sাধীনতার পরবত�ীকােল ভারেত জনসংখ°া বৃিdর dিট কারণ উেlখ কেরা। 

(g) What is BOP? 

BOP িক ? 

(h) Mention two indirect taxes. 

dিট পেরাk কেরর উেlখ কেরা। 

(i) What is GST Council? 

িজ.এস.িট পিরষদ কােক বেল ? 

(j) What is trade union? 

Ëিমক সংঘ বলেত িক েবাঝায় ? 

(k) What is WTO? 

িবƬ বািণজ° সংsা কােক বেল ? 



CBCS/B.A./B.Sc./Hons./Programme/4th Sem./ECOHGEC04T/ECOGCOR04T/2021 

4210 2

(l) What is collective bargaining? 

েযৗথ দরকষাকিষ কােক বেল ? 
  

2. Answer any two questions from the following:
িনmিলিখত েয-েকােনা dিট  pেűর উtর দাওঃ  

4×2 = 8

(a) Discuss the measures adopted for land reforms in India during the plan period. 
পিরকlনাকােল ভারেত ɛিম সংsােরর জন° অবলিmত ব°বsা আেলাচনা কেরা। 

(b) Briefly discuss the structural changes in Indian economy during the plan period. 
পিরকlনাকােল ভারতীয় অথ�নীিতর কাঠােমাগত পিরবত�েনর িদকgেলা সংেkেপ আেলাচনা কেরা। 

(c) Comment on the Public Distribution System of food grains in India. 
ভারেত খাদ°শেস°র সরকাির গণবĊন ব°বsার উপর মnব° কেরা। 

(d) Write a note on functions of RBI. 

ভারতীয় িরজাভ� ব°ােìর কায�াবলী িনেয় টীকা েলেখা। 
  

3. Answer any three questions from the following:

িনmিলিখত েয-েকােনা িতনিট  pেűর উtর দাওঃ 

10×3 = 30

(a) Write a note on the changes of structural distribution of National Income in recent 
decades. 
সাmpিতক দশকgিলেত ভারেতর জাতীয় আেয়র কাঠােমার পিরবত�েনর িবষেয় টীকা েলেখা। 

(b) What is the problem of low productivity in agriculture? Prescribe steps to 
overcome this in Indian context. 
kিষেত sl উৎপাদনশীলতার সমস°ািট িক ? ভারেতর েpিkেত এই সমস°ার সমাধান িহসােব 
পদেkপ সুপািরশ কেরা। 

(c) Write a note on the relationship between population and development in a country 
like India. 
ভারেতর মেতা একিট েদেশর সােপেk জনসংখ°া ও উnয়েনর মেধ° সmক� িনেয় টীকা েলেখা। 

(d) Mention some social security measures adopted by government of India for 
industrial labourers. 
ভারত সরকার কt�ক গৃহীত িশl Ëিমকেদর জন° িনরাপtামূলক ব°বsার উেlখ কেরা। 

(e) Discuss the sources of revenue and expenditure of union and state government. 
রাজ° ও েকndীয় সরকােরর আয়-ব°েয়র উৎসgিল আেলাচনা কেরা। 

(f) Evaluate the working of nationalized banks in India. 

ভারেত রাŷায়t বািণিজ°ক ব°াìgিলর কােজর মূল°ায়ন কেরা। 
  

 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 
to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script. 
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